
 

1 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 

 

FFS-ACD / FFT-ACD 

FRENCH FITNESS SHASTA & TAHOE 
ASSISTED CHIN DIP 

ASSEMBLY AND EXERCISE MANUAL 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

• 11 Gauge Steel 
• 50 x 100mm thickness 3mm Steel tube 
• ASTM A36 steel frame ensures 

maximum structural integrity 
• Each frame receives an electrostatic 

powder coat finish to ensure 
maximum adhesion and durability 

• Nylon-coated cable meets U.S. 
military specifications 

• Fiberglass-impregnated nylon pulleys 
feature sealed bearings 

• Grips retained with aluminum collars, 
preventing them from slipping during 
use 

FEATURES 

10 Years Parts, 1 Year Labor (Commercial) 

WARRANTY 

• Hand grips are a durable urethane 
composite 

• Solid-steel weight plates. Top weight 
plate is fitted with self-lubricating 
bushings 

• Standard rear shrouds 
• Weight selector pin magnetically 

locks in place and is connected to 
stack to prevent loss 

• California Residents see Prop 65 
WARNINGS 

• (14) Weight Plate, EA 13.23 Lb (6 kg) 
• Weight to Pulley Ratio: 1:1 
• Weight stack: 185 lb (84 kg) 
• Machine Weight: 529 lb (240 kg) 
• Dimensions: 47"L x 45"W x 87"H (1180 x 1130 x 2200 mm) 
• Paint Color: Silver 
• Vinyl Color: Black 

TECH SPECS 



 

 
 

 

TABLE OF CONTENTS 

   

   

   

   

 

 

 

 

 

 

3 

PARTS LIST...................................................................................................... 4

CLEAN GUIDE RODS ....................................................................................... 5

FRAME ASSEMBLY.......................................................................................... 6

WEIGHT SET ASSEMBLY: 7 STEPS .................................................................. 7

EXERCISES MANUAL .................................................................................... 12



 

  PARTS LIST 

ITEM 
NO. 

Name QTY. 

1 Screw, M8x55 2 

2 Guide Rod Sleeve 2 

3 Right Frame 1 

4 Screw, M10x50 2 

5 Guide Rod Sleeve Nut 2 

6 Button Head Cap Screw ( M12x125 ) 20 

7 Guide Rod, L 48M 2 

8 Guide Rod 2 

9 Screw, M8x30 2 

10 Screw, M12x25 2 

11 Left Frame 1 

12 Assy, Support 1 

13 Seat Cushion 1 

14 Handle Cap 1 

15 Handle 2 

16 Washer, M12 40 

17 Nut, M12 20 

18 Rectangle Cap 50*100 4 

19 Rectangle Cap 40*80 5 

20 Nut, M10 2 

21 Washer, M10 2 

22 Plastic Pedal 2 

23 Wire rope 1 

24 Washer, M8 2 

25 Counter weight cushion 2 

26 Acrylic Board 1 

27 Ф25 linear Bearing 4 

28 Shroud 1 

29 Screw 12 
 

4 



 

  CLEAN GUIDE RODS  

5 

Step must be completed prior to installing. Failure to do so can leave residue from packaging and other 
sources stuck in the bushings.

Guide rods need to make sure they are cleaned prior to installation otherwise this will cause the top plate 
to get stuck. It causes buildup in the bushings of the top plates. They just need to be cleaned out as well 
as the guide rods.

Use Silicon Spray and fiber to remove any excess residue. These can be found around the house or at a 
nearby hardware store, pics below. Use silicon Spray and steel wool. 

We use "B'laster 16-SL Industrial Strength Silicone Lubricant" and Steel Wool, Grade #0000 Super Fine 
Grade.



 

 

 
  

FRAME ASSEMBLY  

6 

See 7 Step Weight Stack 
Assembly Directions, 
starting on Page 8, for 
Weight Stack Assembly 
Details



 

 
 

 

   

ITEM 
NO. 

Name QTY. 

1 Top Weight Plate 1 

2 Underside Weight plate 13 

3 Adjustable bolt 1 

 

7 

Counterweight bolt comes 
pre-installed in the 66 lb / 30 kg 
weight (the 5th weight from the top).
It must stay installed. Do not remove

WEIGHT SET ASSEMBLY

See 7 Step Weight Stack 
Assembly Directions, 
starting on Page 8, for 
Weight Stack Assembly 
Details



WEIGHT STACK ASSEMBLY

 

 
  

 

STEP 1.  RUBBER BUMPERS

STEP 2.  GUIDE RODS - TILT OUT

8



 

 
  

 

STEP 3.  WEIGHT PLATES

STEP 4. TOP PLATE/SELECTOR ROD- REMOVE FROM
CABLE FOR NOW + INSTALL THE TOP PLATE

9



 

 
  

 

STEP 5.  ADAPTER WEIGHTS

STEP 6.  TILT IN GUIDE RODS- 
RAISE THEM IN ORDER TO BOLT THEM IN

10



 

 
  

 

STEP 7. INSTALL THE WEIGHT SELECTOR PIN AND REATTACH 
CABLE TO THE TOP PLATE AND THEN STORE WEIGHT ADAPTERS 

ON THE CHROME BRACKET AT THE TOP SO THAT THE CABLE 
CAN BE TIGHTENED AND ADJUSTED

11



 

 

 

 ASSEMBLY INSTRUCTIONS 

1) Attach the shrouds using included screws to the black brackets
2) Once attached, apply circular "FF" stickers onto the shroud, on 

the side that faces away from the weight stacks, with the bottom 
of the FF circle at the height of the top weight stack plate.



 

FFS-ACD/FFT-ACD 

FRENCH FITNESS SHASTA & TAHOE 
ASSISTED CHIN DIP 

EXERCISES 

 

 

 

 

 

 

 

 

 

 
 

 

 

 

 

 

 

 

 

 

 

 
 



 

   
 START END 

 

   
 START END 

 

   
 START END 

 

ASSISTED 
DIP 

ASSISTED 
PULL UP 

ASSISTED 
CHIN UP 

 
 1 



 

   
 START END 

 

   
 START END 

 

   
 START END 

 

UNASSISTED 
DIP 

UNASSISTED 
CHIN UP 

UNASSISTED 
PULL UP 

 
 2 



<<

  /ASCII85EncodePages false

  /AllowTransparency false

  /AutoPositionEPSFiles true

  /AutoRotatePages /None

  /Binding /Left

  /CalGrayProfile (Dot Gain 20%)

  /CalRGBProfile (sRGB IEC61966-2.1)

  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)

  /sRGBProfile (sRGB IEC61966-2.1)

  /CannotEmbedFontPolicy /Error

  /CompatibilityLevel 1.4

  /CompressObjects /Tags

  /CompressPages true

  /ConvertImagesToIndexed true

  /PassThroughJPEGImages true

  /CreateJobTicket false

  /DefaultRenderingIntent /Default

  /DetectBlends true

  /DetectCurves 0.0000

  /ColorConversionStrategy /CMYK

  /DoThumbnails false

  /EmbedAllFonts true

  /EmbedOpenType false

  /ParseICCProfilesInComments true

  /EmbedJobOptions true

  /DSCReportingLevel 0

  /EmitDSCWarnings false

  /EndPage -1

  /ImageMemory 1048576

  /LockDistillerParams false

  /MaxSubsetPct 100

  /Optimize true

  /OPM 1

  /ParseDSCComments true

  /ParseDSCCommentsForDocInfo true

  /PreserveCopyPage true

  /PreserveDICMYKValues true

  /PreserveEPSInfo true

  /PreserveFlatness true

  /PreserveHalftoneInfo false

  /PreserveOPIComments true

  /PreserveOverprintSettings true

  /StartPage 1

  /SubsetFonts true

  /TransferFunctionInfo /Apply

  /UCRandBGInfo /Preserve

  /UsePrologue false

  /ColorSettingsFile ()

  /AlwaysEmbed [ true

  ]

  /NeverEmbed [ true

  ]

  /AntiAliasColorImages false

  /CropColorImages true

  /ColorImageMinResolution 300

  /ColorImageMinResolutionPolicy /OK

  /DownsampleColorImages true

  /ColorImageDownsampleType /Bicubic

  /ColorImageResolution 300

  /ColorImageDepth -1

  /ColorImageMinDownsampleDepth 1

  /ColorImageDownsampleThreshold 1.50000

  /EncodeColorImages true

  /ColorImageFilter /DCTEncode

  /AutoFilterColorImages true

  /ColorImageAutoFilterStrategy /JPEG

  /ColorACSImageDict <<

    /QFactor 0.15

    /HSamples [1 1 1 1] /VSamples [1 1 1 1]

  >>

  /ColorImageDict <<

    /QFactor 0.15

    /HSamples [1 1 1 1] /VSamples [1 1 1 1]

  >>

  /JPEG2000ColorACSImageDict <<

    /TileWidth 256

    /TileHeight 256

    /Quality 30

  >>

  /JPEG2000ColorImageDict <<

    /TileWidth 256

    /TileHeight 256

    /Quality 30

  >>

  /AntiAliasGrayImages false

  /CropGrayImages true

  /GrayImageMinResolution 300

  /GrayImageMinResolutionPolicy /OK

  /DownsampleGrayImages true

  /GrayImageDownsampleType /Bicubic

  /GrayImageResolution 300

  /GrayImageDepth -1

  /GrayImageMinDownsampleDepth 2

  /GrayImageDownsampleThreshold 1.50000

  /EncodeGrayImages true

  /GrayImageFilter /DCTEncode

  /AutoFilterGrayImages true

  /GrayImageAutoFilterStrategy /JPEG

  /GrayACSImageDict <<

    /QFactor 0.15

    /HSamples [1 1 1 1] /VSamples [1 1 1 1]

  >>

  /GrayImageDict <<

    /QFactor 0.15

    /HSamples [1 1 1 1] /VSamples [1 1 1 1]

  >>

  /JPEG2000GrayACSImageDict <<

    /TileWidth 256

    /TileHeight 256

    /Quality 30

  >>

  /JPEG2000GrayImageDict <<

    /TileWidth 256

    /TileHeight 256

    /Quality 30

  >>

  /AntiAliasMonoImages false

  /CropMonoImages true

  /MonoImageMinResolution 1200

  /MonoImageMinResolutionPolicy /OK

  /DownsampleMonoImages true

  /MonoImageDownsampleType /Bicubic

  /MonoImageResolution 1200

  /MonoImageDepth -1

  /MonoImageDownsampleThreshold 1.50000

  /EncodeMonoImages true

  /MonoImageFilter /CCITTFaxEncode

  /MonoImageDict <<

    /K -1

  >>

  /AllowPSXObjects false

  /CheckCompliance [

    /None

  ]

  /PDFX1aCheck false

  /PDFX3Check false

  /PDFXCompliantPDFOnly false

  /PDFXNoTrimBoxError true

  /PDFXTrimBoxToMediaBoxOffset [

    0.00000

    0.00000

    0.00000

    0.00000

  ]

  /PDFXSetBleedBoxToMediaBox true

  /PDFXBleedBoxToTrimBoxOffset [

    0.00000

    0.00000

    0.00000

    0.00000

  ]

  /PDFXOutputIntentProfile ()

  /PDFXOutputConditionIdentifier ()

  /PDFXOutputCondition ()

  /PDFXRegistryName ()

  /PDFXTrapped /False



  /CreateJDFFile false

  /Description <<



    /BGR <>

    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>

    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>

    /CZE <>

    /DAN <>

    /DEU <>

    /ESP <>

    /ETI <>

    /FRA <>

    /GRE <>



    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)

    /HUN <>

    /ITA <>

    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>

    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>

    /LTH <>

    /LVI <>

    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)

    /NOR <>

    /POL <>

    /PTB <>

    /RUM <>

    /RUS <>

    /SKY <>

    /SLV <>

    /SUO <>

    /SVE <>

    /TUR <>

    /UKR <>

    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)

  >>

  /Namespace [

    (Adobe)

    (Common)

    (1.0)

  ]

  /OtherNamespaces [

    <<

      /AsReaderSpreads false

      /CropImagesToFrames true

      /ErrorControl /WarnAndContinue

      /FlattenerIgnoreSpreadOverrides false

      /IncludeGuidesGrids false

      /IncludeNonPrinting false

      /IncludeSlug false

      /Namespace [

        (Adobe)

        (InDesign)

        (4.0)

      ]

      /OmitPlacedBitmaps false

      /OmitPlacedEPS false

      /OmitPlacedPDF false

      /SimulateOverprint /Legacy

    >>

    <<

      /AddBleedMarks false

      /AddColorBars false

      /AddCropMarks false

      /AddPageInfo false

      /AddRegMarks false

      /ConvertColors /ConvertToCMYK

      /DestinationProfileName ()

      /DestinationProfileSelector /DocumentCMYK

      /Downsample16BitImages true

      /FlattenerPreset <<

        /PresetSelector /MediumResolution

      >>

      /FormElements false

      /GenerateStructure false

      /IncludeBookmarks false

      /IncludeHyperlinks false

      /IncludeInteractive false

      /IncludeLayers false

      /IncludeProfiles false

      /MultimediaHandling /UseObjectSettings

      /Namespace [

        (Adobe)

        (CreativeSuite)

        (2.0)

      ]

      /PDFXOutputIntentProfileSelector /DocumentCMYK

      /PreserveEditing true

      /UntaggedCMYKHandling /LeaveUntagged

      /UntaggedRGBHandling /UseDocumentProfile

      /UseDocumentBleed false

    >>

  ]

>> setdistillerparams

<<

  /HWResolution [2400 2400]

  /PageSize [612.000 792.000]

>> setpagedevice



